Maths

Find the median from a histogram

Miss Parnham
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Find the median from a histogram

1. The histogram shows the time

taken to complete a crossword.
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a) Find the total frequency.

b) Which class interval contains the
median?

c) Estimate the median time.
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Find the median from a histogram

2. The histogram shows the age of a) Estimate the median age of people
people in a library. in the library.
’ b) Estimate how many people in the
g 15 library are over 50
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Find the median from a histogram

3. The histogram shows the weight of 4. Use the histogram to estimate the
some parcels. median and interquartile range.
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a) Estimate the median weight.
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b) Find the lower quartile |
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Answers
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Find the median from a histogram

1. The histogram shows the time a) Find the total frequency.
taken to complete a crossword. 50
S 13 b) Which class interval contains the
median?
o 20 <t <30
. 15 c) Estimate the median time.
g 13
g 26 minutes
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Find the median from a histogram

2. The histogram shows the age of a) Estimate the median age of people
people in a library. in the library. 45 years old
’ 18 b) Estimate how many people in the
218 21 library are over 50 36 people
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Find the median from a histogram

3. The histogram shows the weight of 4. Use the histogram to estimate the
some parcels. median and interquartile range.
. 15 ) 20
, Interquartile
/ [S **T range 69.4 - 55 16
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a) Estimate the median weight. 5.56 kg(3sf) &= 5 p
b) Flnd the |O\Ner quartlle 3 kg ° (0] 10 ZiO 30 4|O 50 60 70 80 9IO 100
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